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The ancient name of river Ravi

was :
(A) Bipasa
(B) Askani
(C) Parushani
(D) Vitasta

Where is located Bara Shigri, the

largest glacier ?

(A) Lahaul

(B.) Kinnaur

(C) Chamba

(D) Sirmour

The Wara Pass is between :
(A) Chamba énd Pangi

(B) Kinnaur anci Garhwal
(C) Sirmour and Garhwal

(D) Dharamshala and Chamba

TBC : PKS-9517-NTM—A

Which of the following Rajés

of Chamba has the earliest

inseription ?

(A) Sen Varman

(B) Meru Varman
(C) Hans Varman
(D) Lakshmi Varman

In which century was the first
Turkish invasion taken place in
Himachal Pradesh ?

(A) 9th Century A.D.

(B) 10th Century A.D.
(C) 11th Century A.D.
(D) 12th Century A.D.

The army of which place was
disbanded by the British as a

precautionary measure in 1857 ?

(A) 4th Native Ihfantry in Kangra

and Nurpur
(B) Native Infantry in Kullu Fort
(C) Native Infantry in Bilaspur

Fort

(D) Native Infantry in Shimla Fort
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Which district of Himachal Pra&esh
has the overall lowest literacy rate

according to the Census of 2011 ?
(A) Kangra

(B) Shimla

() ﬁamimur

(D) Chamba

When is the Panch Bhisham fair
celebrated at Dera Baba Rudruy, in

. Una district ?

(A) Paush Poornima

(B) Margshirsh Poornima
(C) Kartik Poornima

- (D) Jyeshth Poornmima

According to the Census of 2011 the
Scheduled Caste population of

Himachal Pradesh was :
(A) 28.46%

(B) 25%

(O 30%

D) 34.5%

TBC : PKS-9517-NTM—A

11.

12.

1.10. How many women were elected to

the H.P. State Assembly in the
election of 2017 7

(A) 01

(B) 02
(C) 03
(D) 04

The Lokayukta Bill was introduced
in H. P. Legislative Assembly in the

year :

(A) April 1, 1983
(B) May 1, 1983
(C) dune 1, 1983
(D) July 1, 1983

How many Paﬁchayats of Himachal
Pradesh were declared Backward in

2014 ?
(A) 551
(B) 581
(C) 611

D) 681
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13. Who donated ‘The Hall Esﬁate’ to
lInternational Roerich Memorial

Trust at Naggar ?
(A) Amrita Sher-Gil
(B_) Nicholas Roerich
(C) Devika Rani

(D) C. S. Roerich

14. How much monej'f is provided for the
marriage of the daughters of widows,
divorcees and destitute women under
the Mukhyamantri Kanyadan

Scheme (2608-09) ?
(A) Rs. 5100
(B) Rs. 10001
(C)-Rs. 11000

(D) Rs. 11001

TBC : PKS-9517-NTM—A

15.

16.

17

Which district of Himachal Pradesh
has the highest Sikh population ?

(A) Kangra
(B) Una

(C) Mandi
(D) Shimla

Where is Himachal Pradesh ranked
in terms of Human Development

Index (12th Plan) ?

(A) First

(B) Second

(C) Third
(D) Fourth

Which cities of ‘Himachal Pradesh
are qualified under the Jawaharlal
Nehru National Urban Renewal

Mission (2005) ?

(A) Dharamshala alone

(B) Shimla alone

(C) Both Shimla and Dharamshala

(D) Shimla, Dharamshala and
Mandi
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18.

19.

20.

Amrita Sher-Gil was born in :

(A) Paris

' (B) London

(C) Berlin
(D) Budapest

Which district of Himachal Pradesh

has two large cement plants I?
(A) Shimla

(B) Solan

(C) Kullu

(D) Sirmour

Who brought the idol of Raghunathji

td Kullu from Ayodhya in 1651 ?
(A) Damodar Dass

(B) Raja Jagat Singh

(C) Vishnu Sharma

(D) Khushal Chand

TBC : PKS-8517-NTM—A

21.

22,

23.

Which Indian got the Nobel Prize
in Medicine in 1968 ?

(A) C. V. Raman

(B) C. Chandra Shekhar

(C) Hargobind Khuralna

(D) None of the above

Who was the first Woman Minister

of India ?

(A) Rajkumari Amrit Kaur
(B) Sucheta Kriplani

(C) Vijaya Lakshmi Pandit
(D) Indira Gandhi

Which of the following dancers is not

matched correctly ?

(A) Uday Shankar — Fusion style

of dance
(B) Shambhu Maharaj — Kathak
(C) Sitara Devi — Kathak

(D) Yamini Krishnamurthi _

Odissi
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24.

25.

26.

Which of the following is the longest

River Bridge in India ?

(A) Vindhya Setu, Nasik
(B) Godavari Setu, Jabalpur
(C) M. G. Setu, Patna

(D) Jawahar Setu,. Chennai

On which river is the Hirakud Dam

built ?

(A) Tapti

(B) Mahanadi
(C) Krishna
(D) Vindhya

Which of the following Artists is not
matched correctly with his musical

instrument ?

(A) Alauddin Khan — Sarod

(B) Shiv Kumar Sharma — Santoor
(C) Bismillah Khan - Shehnai

(D) Ali Akbar Khan — Flute

TBC : PKS-9517-NTM—A
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27.

28.

29.

Of the following, which is the

election symbol of D.MK. Party ?
(A) Rose

(B) Rising Sun

(C) Rising Moon

(D) Peacock

Which Constitutional Amendment
has reduced the voting age from

21 to 18 years ?
(A) 42nd
(B) 5lst
(C) 61st
(D) 58th

How many Schedules are there in

the Indian Constitution ?
(A) 12
(B) 10
(C) 08

D) 07
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30.

31.

32.

Which is the newest capital city of

India ?

(A) Dehradun
(B) Bhubaneswar
(C) Ranchi

(D) Amaravati

The Chief Election Commissioner of

India is :

(A) Nasim Zaidi

(B) Achal Kumar Joti'
(C) Om Prakash Rawat
(D) Ashok Lavasa

Which of the following Judges of
Supreme Court has not opposed the

practiées of its Chief Justice ?
(A) J. Chelameswar

(B) Arjan Kumar Sikri

(C) Ranjan Gogoi

(D) .Kurian Joseph

TBC : PKS-9517-NTM—A
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33.

34.

35.

Which of the following ports is India

developing for Iran ?

(A) Chabahar

(B) Abadan

(C) Bander Abbas

(D) Dohaj

The Chie-f Economic Adviser of India
is :

(A) Reghuram Rajan

(B) Arvind Virmani

(C) Arvind Subramanian

(D) None of the above

Indian politician and former
bureaucrat who won Junior Tennis
Championship in 1966 and Senior -
title in 1974, was :

(A) Navjot Singh Sidhu
(B) Kiran Bedi
(C) Arvind Kejriwal

(D) Pargat Singh



30.

31.

32.

I &1 FEaH T9YFT TR S
g 2.

(A) B

(B) ¥YEATR

(C) =h

(D) STkt

IR 1 &3 I gH FH § 2
(&) o\ S

(B) o191 AR Wt

(C) M Wwml UEd

(D) 3TiF e -

im w8 & Frafafaa fea =
3 TS T = & ST Ry
W& fra ¥ 2

(4) ¥ v 3

(B) mﬁ%w@-ﬁﬁ%

(C) T T g 3

(D) HEw SaE

TBC : PKS-9517-NTM—A

13

33.

34.

35.

o1 0 % Fore e 4 i s
foohfed & W ¥ ?

(A) ==ER

(B) sA&EH

(C)ﬁm

D) <R

URA T q&F e UamER wid
T2

(A) TH TS

(B) eRfa< =miHl |

(C) eRfa< YoAf1ga

(D) Swfsd # & *rE T

IRA THiToe e qd sifepr fem
1966 3. § iR e Sftggaiee qon
1974 3. % Hfifrer faae s, =8 @i

o ?

- (A) Teim fog fay

(B) e o
(C) =< deiae
D) e g

P.T.O.



36.

37.

The Central Rice Research Institute
is in
(A) Ahmedabad

(B) Chennai

(C) Bengaluru

(D) Cuttack

In which ratio the Indira Awas
Yojna for providing dwelling units
for BPL rural holds is funded
by the

Central and State

Governments ?
(A) 25 : 75
(B) 50 : 50
©) 75 : 25

(D) 80 : 20

TBC : PKS-9517-NTM—A
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38.

. 39.

40.

The tag line of “Aaz Likhenge Kal”

is of which TV.?
(A) Sony TV
(B) Zee TV

(C) Star TV

(]j) NDTV

Who is the latest Miss World of

India ?

(A) Aishwarya Rai
(B) Lara Dutta

(C) Priyanka Chopra

(D) Manushi Chhiller

-The Duleep Trophy is assoicated

with the sport- of :
(A) Cricket
(B) Table Tennis
(C) Hockey

(D) Badminton
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41.

42.

43.

The World -Earth Day is on :' -
(A) April 02 |

('B) April 12

(C) April 25

(D) April 22

What is the projected fiscal deficit
of India for the financial year

2018-19 7
(A) 3.2%
(B) 4.0%
(é) 3.5% -
D) 3.8%

Wimbledon Trophy is related to :

(A) Hockey

(B) Table-Tennis

(C) Tennis

(D} Badminton

TBC : PKS-9517-NTM—A
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45.

46,

44, Where is China-Pakistan Economic

Corridor Terminated in Pakistan ?

(A) Karachi Port

(B) Mundra Port

(C) Dohal Port

(D) Gwadar Port

‘The currency of Qatar is :

(A) Euro

(B) Riyal

(C) Rouble

(D) Dollar

In which country was the Pulitzer

Prize instituted ?

(A) USA

(B) Germany

(C) Great Britain

(D) Sweden
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47.

48.

49,

The UNO Charter was signed in :

(A) New York

(B) Canberra

(C) Brussels
(D) San Francisco

The headquarters of the Organization
of Petroleum Exporting Countries

(OPEQC) is in :
(A) Washington
(B) Tehran

(C) Vienna

(D) Riyadh

49th paralle]l forms the boundary

between :

(A) Denmark and S?veden
(B) Canada and USA

(C) Russia and Turkey

(D) USA and Mexico

TBC : PKS-9517-NTM—A
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50.

51.

62.

Which region of Spain has declared

its independence ?
(A) Barcelona

(B) Lisbon

C) PragueA

(D) Catalonia

The name.of BRICS Dévelopment
Bank has been changed to :

(A) New Development Bank

(B) National Bank of BRICS

Countries
(C) Modern Development Bank

(D) BRICS International Bank

. Where was held the World Economic

Forum Meet in 2018 ?
(A) Locarno

(B) Berlin

(C) Davos

(D) Shanghai
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53. Aung San Suu Kyl is Myanmar’s :

54.

{A) President

{(B) State Counsellor

(C) Prime Minister

(D) Chief Election C(_)m.missioner

Which astronomer, physicist,
engineer and mathematician was
charged with hearsy for asserting
that the earth moves rouﬁd the

sun ?

(A} G. Galilei

(B) John L. Baird
(C) James Stephen

(D) None of the above

TBC : PKS-9517-NTM—A
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55.

56.

&,

The Parliament of Switzerland is

called :

(A) Cbngress

(.B) National Assembly
(C) Diet

C-D) Federal Assembly

Which country has the newspaper,
‘The Herald’ ?

(A} India

®) USA

(C) Great Britain
(D) Germany

Which of the following News
Agencies is not matched correctly

with its country ?

(A) Reuters — Great Britain

(B) United News of India — India

(C) Associated Press — USA

(D) Islamic Republic News Agency

— Pakistan
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58.

- 69.

60..

Which is called ‘The City of Seven

Hillsg’ ?

(A) Manila

(B) Rome

(C) Bangkok

(D) None of the above

Where is going to be held the World
Cup Football in 2022 ?

(A) Qatar
(B) Russia
(C) Brazil
(D) USA

The first Indian who was awarded
the Oscar Award for lifetime

achievements in Cinema, was :
I(A) A. R. Rehman

(B) Amitabh Bachchan

(C) Satyajit Ray

(D) Dalip Kumar

TBC : PKS-9517-NTM—A
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62.

63.
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Who was the leader of 1857 Revolt

in Bareilly ?

(A) Khan Bahadur_Khan
(B) Hazrat Mahal

(C) Kunwar Singh

(D) Abdulla Khan-

Which historian contests the ‘Safety
Valve Theory about the creation of

Indian National Congress ?
(A) R. C. Majumdar

(B) V.D. Savarkar

(C) Bipan Chandra

(D) Harbans Mukhia

-To whom did Swaraj Party elect its

leader of Legislative Council ?
(A) C. R. Das.

(B) Vitthalbhai Patel

(C) Motilal Nehru

(D) B. G. Tilak



58,

89.

60.

R R o e e’ B e
g ?

(A) THten |

®) W B

(C) =l &I

D) vwgdw ¥ B &

2022 3. # TeE @Y @EAld wE W

B ?

(A) &R |

(B) w4 ¥

.(C)W\—fﬁﬁﬁ

O ¥ W T

favmr & Sfeerei ghemet w fng
wﬁaﬁwaﬂwmﬁw ?

(A) T X wHH #

(B) iy S W

(C) woosa T &t

(D)a%ﬂwzgqnﬁ

TBC : PKS-9517-NTM—A
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62.

63.

61. 1857 3. & fasi® =1 ateh ¥ o9

a1 ?
(A) @ F_IR @M

(B) woRa #Ew

(©) % f¥s

D) sige @H

HITH SRREHR T T i @
T H YR HI g &1 Ry s @
€ ?

(A) ¥R. €. T9RR

(B) Si. €I WEHT

(©) T =%

(D) W gfgan

R T ¥ e i, F e orr
WA ?

(A) . SR T

(B) foagauE wa =

(C) Uriers Fe® @i

(D) =t w1 fooes =t

P.T.O.



64. Where was held the first Congress

65.

66.

Session in Mumbai ?

(A) St. Xavier College

(B) Sophia College

(C) S. N. D. T. Women College
(D) Gokuldas Tejpal Collegg

Where did the Revolutionaries give
the titles .of President to Raja
Mahendra Pratap and Prime
Minister to Barkatullah ?

(A) Singapore
(B) Kabul
(C) Hong-Kong

(D) Berlin

Of the following, who was not |

associated with the Azad Hind
Fauj ?

(A) Balbir Singh

(B) Mohan Singh

(C) Niranjan Singh Gi]l‘

(D) Subhash Chandra Bose

TBC : PKS-9517-NTM—A
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68.

69.
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Which favoured the Partition of

India ?

(A) August Offer

(B) Cripps Mission Plan

(C) C. R. Forrﬁula
(D) Cabpinet Mission Plan

Of the following, what was not

'done-'by the Colonial Government in

India ?

(A) Sati abolished

(B) Railways established

(C) Social legislation

(D) Lowered voting age to 20 years

What is true about the Butler
Committee ?

To investigate relations

betwéeh the States and the

(A)

British Government

(B) To implemient educational

reforms

©

To control lowlessness

)

To empower women



64, qE H HIW N YU AP wE

65.

66.

g 7
(A) 2 Sfga wias d

(B)- Hiftpar e o

(C) 0. . = 9. 987 =faw o
(D) TR 9T sl |

IR 7 ST ARSI T o
T SERGETE bl FHM HoAT i Suifer
el o ?

(A) o #

(B) = #

(C) gm-=im H

(D) =feq _
ﬁmﬁmﬁﬁﬁa%maﬁqm
o ?

(A) =R g

B) #igT Toe

(C) Trism fig e

D) QU™ =% dW

TBC : PKS-9517-NTM—A
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67.

68.

69.

m%ﬁwaﬁfﬁsﬁmaﬁm'.?
(A) & R A

(B) T faem @ 3

(C) & R wren 3

(D) =fere firet <@

ﬁwﬁ@raﬁwﬁéﬁamﬁwﬁ
T e fRar ?

(A) T v = e
(B) &d S+ TYTH
(C) wrHiRTeR fafg—frmfor

(D) W I DI MY HH FH oW oY

e

TR FA B R AT L 7

(A) SIS WHR U1 T4 & gerel
I Siter

(B) fers gurl 1 @ &

(C) er~wehar ! FRifm e

(D) R wEIfeRrehTn

P.T.O.



70.

At

Which is #rue of the Secretary of
State for India under the Act of

1858 7

(A) He was a British Minister for

Indian Affairs
(B) He was the leader of opposition
(C) A distinguished ICS officer

(D) He must be an ex-army

General

On which particular issue was Lord
Ripon made to compromise with his
legislatic‘)n' ?

(A) Repeal of Vernacular Press Act
(B) Local Self-Government

(C) Financial Decentralization

(D) The Ilbert Bill

TBC : PKS-9517-NTM—A
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72.

73.

74.

When was the Durand Line
Agreement signed with the Afghan

ruler ?

(A) 1891
(B) 1892
(C) 1893
(D) 1894

Which is not associated with B. R.
Ambedkar ? |

(A) Bahishkrit Bharat

(B) Indian Scheduled Caste Party
(C) Independent Labour Party
(D) Caste in India |

When was the Federation of Indian

Chambers of Commerce and

Industry established ?
(A) 1927
(B) 1925
(C) 1928

(D) 1930



70. 1858 3. & WR ® 3Iraid Sl

71.

HAF W BR A & SR H O

M T ?

(A) 9% wRdE A w1 ww fafew
eI

© (B) 9% ToiE €1 w1 e o

(C) & fafire omE. . . (ICS)
=P e

(D) 34 9@ I &1 IR BT A

A7

@ Rot ® fRw BRI R W
aﬁﬁf&—ﬁﬁh%m&mﬁmm

qgr ?

(A) TgeR 39 TR W R/ w0 3§
(B)wﬁawéaﬁﬁ

(€) fofa fod=iomm & fag

D) e faar & R H

TBC : PKS-9517-NTM—A
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T2.

73.

74.

W IMEF & Y IO & GuE
(Durand Line Agreement) W %4

TEIER gL 7

(A) 1891 €. #

(B) 1892 . #

(C) 1893 £. #

(D) 1894 §. #

. 3. aﬁm%m&ﬁwﬁ%
¥ 2

(A) Jfespa ART

(B) sfves fiegee w2

(C) sfete= R el

D) *re 37 sfea

HeWH AT sfvedT < offw i
TS SR HI W HH g 7

(Ay 1927 3. #

(B) 1925 %. #

(C) 1928 5. ®

(D) 1930 3. #

P.T.O.



75.

76.

77.

The Servants of India Society was

startéd‘in 1905 by :

(A) Bal Gangadhar Tilak
(B) Lajpat Rai

(C) Gopal Krishna Gokhale
(D) Lala Hardayal

When did Tilak set up the Home

Rule League’ ?
(A) 1915
(B) 1916
(©C) 1917
(D) 1918

To whom did the Constituent
Assembly elect its permanent

President in 1946_ ?
(A) Jawaharlal Nehru
(B) B. R. Ambedkar
(C) Sardar Patel

(D) Dr. Rajendra Prasad

TBC : PKS-9517-NTM—A
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78. V.D. Savarkar became the President

79;

80.

of Hindu Mahasabha in :
(A) 1934

(B) 1936

(C) 1937 |

(D) 1940

Whom did Lord Mountbatten

succeed as the Viceroy of India ?
(A) Lord Wavell

(B) Lord Linlithgo

(C) Lord Irwin

(D) Earl of Wellington .

Who shot dead Sir Curzon Wyllie

in London ?

(A) The Chaﬁekar Brothers
(B) Bhagat Singh

(C) Surya Sen

(D) Madan Lal Dhingra



75.

76.

7.

TBC : PKS-9517-NTM—A

1905 5. T oy 3ife sfea Swse fhem

Y| i ?

(A) =@ TR foes 7

(B) wSgd W A

(C) Wit o0 e 3

(D) W weA |

foe=w 3 ‘99 F@ @ &9 T8 7
(A)' 1915 % ¥

(B) 1916 %

(C) 19i7 g #

(D) 1918 3. H

1946 3+ H Gounfeh oTeweel o ST
Wit gyH &9 ga ?

(A)Wﬁsﬁﬁ

(B) . 3. IHaSHT W

(C) ¥ER 9| &H

D) . TIF UEE w
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78.

19,

80.

ﬁ.ﬁ.wﬁiﬁaﬁﬁ}réuuﬁm
T ?

(A) 1934 3. H
(B) 1936 8. ¥
(C) 1937 3. #
(D) 1940 3. #

A TR RS R W 9 $

A" g9 ?
(A) o€ oA
(B) @S femferamm
(C) o =fem

(D) & e dfermea

S T A e S T
®: ?

(A) U Tyl §

(B) W fig A

(©) 9@ & 3

(D) WEAee @R A

P.T.O.



81.

82.

83.

Fd

Which of the following was not
published by Gandhiji 7

(A) Young India
(B) Free India

(C) Indian Opinion
(D) The Harijan

Which of the follbwing techniques
was not in the teachings of
Gandhiji ?

(A) Revenge

(B) Hizrat

(C) Fast

(D) Non-violence

Which of the following was not in

Gandhi’s Scheme of Democracy ?
(A) Direct elections of Panchayats

(B) Indirect elections above

Panchayats
(C) Opposed to Party system

(D) Direct elections to State and

Central Legislatures

TBC : PKS-9517-NTM—A
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84. Which of the following is not a true

85.

Satyagrahi according to Gandhi ?

(A) Who works according to his

" conviction

(B) Who is always ready to accept
suffering in his struggle against

oppression
(C) It is the weapon of weak

(D) He should not obey the

unlawful practices
The oldest sect of Shaivism was :
(A) The Kapalika
(B) The Pashupat
(C)‘ Virashaiva

(D) None of the above



81. et # & e T g SRR T | o o e o e e

Torar S o ?

L e e ?
(A) g7 gfear
B) W e (A) S gy Fava A w1 w@ ¥
©) .; - (B) S 397 SR & faog wwd #
D) & =Em

3@ Wel & fau wd TR @
82. wetst =T el # = # ¥ S

TR el of ? g
(&) = (C) 98 HHIN W IS
(B) feswa _
' (D) 3 IR T 1 Uie el B
(C) ==
(D) e a
83. Wl i oA Whid F 1=t w W | 85, Yo F yRAAH, WG S o 2
a2
. . (A) ShIATICTR
(A) Y=l ® WEY g
(B) o % SW FYTH TAE (B) werud
C) SA-WUE ! fadga
(C) < ©) drd
(D) =7 991 < el 5w
o (D) S9g= H | & T

TBC : PKS-9517-NTM—A 31 P.T.O.



86.

87.

TBC : PKS-9517-NTM—A

The ninth incarnation of Vishnu

is :

(A) The Buddha

(B) Kalki

(C) Krishna
(D) Rama

Of the following, which is not true

about Ram Mohan Roy ?
(A) He was opposed to Sati System

(B) He was influenced by
christianity, but he does not

believe it wholly

(C) Critic of wrong religious

practices

(D) Critic of Arya Samaj

32

88. Where and when was the first Singh

89.

90.

Sabha established ?
(A) Lahore, 1870

(B) Amritsar, 1873
(C) Karachi, 1871
(D) Rawalpindi, 1872

Who was not the disciple of
Abanindranath Tagore, a great

painter ?

(A) Asit Kumar Halda‘r '
(B) Mukul Dey

(C) Ravi Varma

(D) Nand Lal Bose

Who was the founder of Deoband
School ?

(A) Rashid Ahmad Gangohi
(B) Sir Syed Ahmed Khan
(C) Dadabhai Naoroji

(D) Ali Iman



86. favy w1 e (Ninth) steaR @

87.

|

(A) 95

(B) wedh (Hiew)

(C) F

D) ™

fr= A ¥ e 1@ & Wi § =
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88. Yl Yl e YUA THT U ST TG

89.

T ?

(A) ¥ER, 1870
(B) 3may, 1873
(C) =R, 1871
(D) TFafi<l, 1872

aﬁﬁ%ﬁ?(@ﬂ%ﬁﬁﬂ?ﬂz)m'
g A wE a1 2

(A) 3T FAR TR
(B) g5 €
() 3 mt

(D) <o o

90. T THA F YR DI A ?

(A) iR or@Ae T
(B) W Y=g g ©f
(C) TRIE RIS
D) Sl $A9

P.T.O.



91. What is the per hour spéed of

Hurricane ?

(A) Above 200 km
(B) Above 210 km
(C) Above 150 km
(D} Above 120 km

- 92, How much is the population of South

Asia ?

(A) One-third of the world
(B) One-fourth of the world
(C) One-fifth of the W(;rld
(D) One-sixth of the world

93. Where are the largest number of

Islands in India ?
(A) The Arabian Sea
(B) The Indian Ocean
(C) Bay of Bengal

(D) None of the above

TBC : PKS-9517-NTM—A
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94.

95.

96.

Where is the longest coastline of

India 7

(A) Gujarat

(B) Odisha

(C) Karnataka

(D) Maharashtra

W'hat‘ is the Richter Scale ?
(A) It measures the sea tides
(B) It controls the winds

(C) It measures the speed of earth-

quake
(D) It contrels the solar system

When was the Constitution of J&K

started ?

(A) January 26, 1950
(B) January 26, 1957
(C) January 26, 1956

(D) January 26, 1952
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B 72
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(B) 210 et & HW
(C) 150 fopHl. & FR

(D) 120 TorHl. & S

92. <fym uwfym = fead SAEEm ¥ 7
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93. YRa # wWOW Afys 9 wA § 7
(A) oFE W #
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D) swfw H 9§ w7
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94, URA & WY T 9 Y@ FEl ¢ ?

95.

(A)Wﬁ

(B) eliftesn #

(©) e 4

(D) wERre #

e ba = 3@ ¥ ?

(A) TF T qEA H A ¥
®) = e W FEE e R

(C) @ v W TR A ¥

D) I8 UR ¥ed | T e §

96. W—Wwﬁﬁmmm‘g&ﬂ ?

(B) 26 e,

(A) 26 wFad, 1950

1957

(C) 26 Sa{l, 1956

(D) 26 ST, 1952

B,
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98.

Which four regional languages-

were added in Schedule VIII in
2004, taking the number of

languages to 22 7

(A) Bodo, Maithili, Dogri,
Bhojapuri

(B). Maithili, Bhojapﬁri, Sindhi,
Dogri

(C) Dogﬁ, Sindhi, Maithili, Bodo

(D) Dogri, Maithili, Bodo, Santhali

What is the ‘Buffer Stock’ in Nation’s

Economy ?

(A) It is the foodgrain stocks (only
wheat and rice) to meet the food
crisis in India

(B) Foodgrains kept in godowns by

householders

(C) Concealed foodgrains for black-

marketing

(D) Unconsumable foodgrains

TBC : PKS-9517-NTM—A
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100.
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Where is the headquarters of the

BRICS countries- ?
(A) Shanghai

(B)  New Delhi

(C) Manila

(D) Moscow

Which country has the largest
number of Billionaires, according to

the..ForBes Magazine ?
(A) Japan

(B) India

(C) Ger;nany

(D) France



97.

98.
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" TBC : PKS-9517-NTM—A
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99. féd (BRICS) =¥ &1 H&Aw™ &l

g ?

() wE
(B) 7§ feeed!
(C) nﬂﬂ?ﬂ_

(D) TR

100. B W B STER few 3w W

3tfrer sRemfa (Biliionaires) g2
(A) STIH
(B) e
(C) ST

D) W\

P.TO.
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(iii)




